
Journeyman's Workshop Sheet:02/08/2016Gamma Style Hot-Air Engine 1Drawn:



6

3

4
5

6

6

1
0

4
0

25

3

25

7
.5

13

13

35

95

6
0

35

6

4x n3 x THRU

wn5.4 X 90 °

2x n4 x THRU

wn7.4 X 90 °

4x n4 x THRU

25

R
10

4
0

n7

Crankshaft Support (2 off M.S.)

13

3

6

n4 x THRU

Pillar (2 off M.S.)

2
4

11

37.5 37.5

16

40

2222

16 6

2
2

11

n4 x 5

4x M3x0.5 x 8

n5 x 5

4x M3x0.5 x 8

n7.5 x THRU

115

2x M5x0.8 x 10

M6x1  x 10 

for blanking plug

11

3
2

n5 x THRU

n
1

9

1

91

2.5
Silver (Hard) Solder

22

32

2
2

3
2

n17.5

4 x n3 x THRU

02/08/2016Journeyman's Workshop Sheet: 2Drawn:Base & Cylinder Mounting Block

Cylinder Mounding Block (M.S.)

Base Plate 3mm (M.S.)

Displacer Cylinder (M.S. Tube)
(Hot Cap)



22

32

2
2

3
2

4 x n3 x THRU

n
1

9

n
1

7
.5

39

2.5

Silver (Hard) Solder

22

13

Oil Grooves

n
14

M3x0.5 x THRU

n
17

.5

1.5

9

n6

M3x0.5

8

n1 x THRU

R
2.

5
R1.5

50

n
3

n1

1
.5

Conrod (M.S.)

n1 13

n1

5

30R
2.

5 R
1.5

n
3 n1

Displacer Link (M.S.)

n
5

n
3

1
1

6

n
3

1

M3x0.5

16

n
3

n
5

n
3

5
.5

2
0

6
M3x0.5

16

n
3

76

n
5

n
4

78

10

1
.5

3 n1 THRU

n
4

n
8

n
7

.5

11 19 n
7

n
8

6

2
n5

n
1
3
.5

65

n
1

6
.5

10 3

M4x0.7 THRU

Press Fit Plug

Motion Works & Power CylinderJourneyman's Workshop Drawn: Sheet:03/08/2016 3

Power Cylinder (M.S.)

Piston (Brass or C.I.) Piston Yoke (Brass)

Wrist Pin & Displacer
Link Pin (M.S.)

Displacer Crank & Crankpin (M.S.)

Power Crank & Crankpin (M.S.)

Crankshaft (M.S.)

Displacer Rod (M.S.)

Displacer Rod Gland (M.S.) Crankshaft Bearing (2 off Brass)

Displacer



n60
n

20

Flywheel (Brass or S.S.)

n
7

5

14 8

n
5

5

5

M4x0.7 x 6

n19 n
28

4x n3 x THRU

Cooling Fin (5 off Aluminium Sheet)

n
7

5

1.5

n19

Cooling Fin Spacer
(4 off Brass)

n
2

4

5

4 x M3x30 bolts

Fins

Spacers

4 x M3 Hex Nuts

03/08/2016Journeyman's Workshop Drawn: Sheet: 4Cooling Fins & Flywheel

Cooling Fin Assembly
(Slide Onto Hot Cap With Heat Transfer Compound)


